


№ 466 Запишите числа, обратные данным:

а)

б)

в)

г)

д)

е)



№ 467 Вычислите:

а)

б)

в)

г)

3

2

3

1

1

3

1

1

– 1 

1

10



№ 470 Вычислите:

а)

б)

в)

г)

2
1

2 1

1
1

2

3

1



№ 491

 – 7 
I I I I I I I I I I I I  

х

Луч  (– ∞; – 7 ] 

3,5
I I I I I I I I I I I I I  

х

Луч  [3,5; +∞)

Интервал  (– 5; – 1,5)

I I I I I I I I I I I I I I I 
– 5 – 1,5 х



№ 491

Отрезок [– 8,5; – 1]

I I I I I I I I I I I I I I I 
- 8,5 - 1 х

- 15
I I I I I I I I I I I I I  

х

Открытый луч  (– 15; +∞) 

2,3
I I I I I I I I I I I I  

х

Открытый луч  (– ∞; 2,3) 





*

К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.



№ 477 (3-е примеры) Вычислите:

6

1

54

5

2

3

6

1

2



№ 477 (3-е примеры) Вычислите:



№ 468(в) Вычислите:

1

2

1

5

28

1



№ 469(в,г) Вычислите:
1

1

1

6

1

2

3

1

1

1



№ 480 Вычислите:

5

1

1

5

5

4
5

4



№ 488

а)  3х = – 15  

Решите уравнение:

3 3

х = – 5  

Ответ:  – 5  

б)  – 7х = – 21  
– 7 – 7

х = 3  

Ответ:  3  

в)  – 25х = 5  
– 25 – 25

х =  

Ответ: 

г)  9х = – 81  
9 9

х = – 9  

Ответ:  – 9  



У:   № 468 – 469(а,б); 

               477(1-2 примеры);

                481;

               489.
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